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D—1 T—REEMUERGETE] ICKBTROGEEISICDOVNT (e : /1)
H3O0%FE | R1FE | R2FE | R3IEE | R4FE | FHE
C AR E B 4kg(450) | BEHECHRBICLBT
21,988 19,322| 18,617| 17,969 17,778| 19,135 4kg CHRICELDT
(a) W=t HUIEEHOD BN
£ # (450 : 31.5M)
:ag&gﬁm 19,463| 20,411 23,108| 21,783| 23,128| 21,578
il a,451) 39,733 41,721| 39,752 40,906 40,713| 162.8M 19.3%
D—2 —BHNZSEERSYOUE HE
= 10&67=Y 20,000 [ 3,000,000 kg
£ E G O % ESS n2s | | 500 - 1
16,000 e £
H30FRE 8,963 1 15,349 O 2,259,570 kg 147.2 kg 14,000 - - 2,000,000
12,000 -
RIERE 8,828 4| 16,255 00| 2,663,550 kg 163.9 kg | | 20,000 - - 1,500,000 —gl
8,000
R2EFE 9,21T#| 17,181 0/| 2,732,340kg| 159.0 kg | | 6,000 - 1,000,000
4,000 - - 500,000 )]
RIFE 8,863 | 17,336 0| 2,504,560 kg| 144.5kg| | 2000 - &
0 - -0 3
RASEE 8,605 ¢ | 16,674 0| 2,218,780 kg|  133.1 kg Q&@ 4&@ {&@ %&@ &@
¥ @&
SEiE 8,805 #| 16,559 01| 2,475,760 ka|  149.5 kg
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af s 3500 f
FE | pe | & & 2000
H30ERE 609 1 2,674 1K 3,283 {k 2,500 \\
R1EEE 591 (K 2,422 {¥ 3,013 /& 2,000 IR
1,500 —® H
R2EERE 523 {k 2,196 & 2,719 {k ' & &
1,000
R3FE 482 1% 2,119 (& 2,601 1& <00
RAERE 47 1% 2,159 (& 2,606 {& 0 . . . . .
TE 530 14 2314 1% 2 844 1k H30EE RIFE R2EEFE RIEE RAEE
@—3 NEBHEEEITR HB
FE H30EERE RIEE R2EEE R3EEE RAERE 5|
IRSREMRFEIF R R 12, 300, 0004 13,300, 000F4 13,300, 000F4 13,300, 0004 15,600, 0003 13,560, 0003

(FithE)



O —RFNZEEEYOUEICEHRDIEDICDONT (BREZE)

®K7EN \ G
#h# B & % #h& B EFR #h# B &FR
i m B 220~2,200 3| [EEE™H 1 200~600 A |tamh 1= 1,100 M
f{am i 33,300 3| |l 1= 300, 650 M|N\EFT X X M
EAR™ X A |B&m 1{& 820 M|#@REm |1E 520 M
EXREAE™ X MRl |/\Fm B 520 3 |E U 58 30kgE 2,090 M
FiEh X [ |EkEH RS 600, 1,200 M |s&Rm ARET 500, 1,000 F4
FR*nmh 1] B h>52,500 3| | X M [fBH™ RS 605~935 M
JUEEHT X X A |EB&m X M |FRrFH X X M
Bl 1am 330~880 3| |ARILT™ - - M |RE™T 58 11, 800~26, 100 F3
HEM X X Al |LWoEh  |[BECE 520~1,560 M3 |#aAH m B k925 3
=FaE B 2tEE3,130 B | |KkFP™ RS 500. 1,000 M9 |IxxE - - M
TTE™ X X Al |F&=m (1= 840 M3 |2#/8Th -5 600~1, 200 M3
FrEEM 1= 300 3| |siAETH =R A |l mB 900~2, 400 F3
ERXKE™ EEFAENN A |[SEh 58 3,300~11, 800 A4 |—=m X X M
EER™ X X =1 llr2ge B 500~2, 000 F3 |EHE™ m B 600~1, 200 M4
AAH Bl Br31,90 M| PO 1= 310 A3 |XE 58 350~2, 800 M4
Bam RS 400~2, 800 4 [EHTH = 450~2, 700 F4
iiali=e] 58 10kgZ &374 9 |FRET By 8~ >2,500 F4
X Ix ] BOBBEKE. ARIXEIEERL TLWERL, T-] BIOBRBREIE. KEEH
OHREHE
#h& B R #h# B &FR
S50 m 2,720 M3 [S4amh -5 510~2, 040
WA mBE 1,200 M9 |[#aLUm X M
NEM By 2120, 000 A3 [=0H X 3
BE/INT |EETHRE 10kgZ&270 3 |ABAKT  |@mB 310~1, 270 M
RAMR™ X X A |RiET™H - JUN-=-L—- 523. 1,047 M
= n X M [EtRT |1 520~1, 560 M
el 1.8m 5,400 A |=lEh 118 500~2, 000 F4
BRE™ 1= 300~2,100 B |EIRET 1= 4,070 M
=g X X M |48k H m 1,000 M
=R - - M3 [dEAupnm |100kg 2,300 F3
MR - - M =& = 3,200~9, 600 F3
SSER X X M3 [REARm 118 500, 900 F3
yNANGF] [KE 763 [ | AR - - M
BEm S 200~3, 600
& - - =
Rl =
R M

X [x] EIDOBEREE. BRUIXEEEREL TLVRLY,
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HhiEmT X
£ X
BARM | 2,200
EHEAET | 540 M
Fheth X
et X
JUEEHT -
BUFFTH 880 H4
HHE™ 1,100 A4
B -
TTHE™ -
FrEEm X
ERREH | -
ERH X
Kot 710 M
| 1,086 M

X [x | EIDOBBIKIE. BRUXEERL TLVELY,

OHRThE

& ik & &5 #h ik & &R
ENBE A 330 [ |EHim 1,040 M | 1,540
fBJITH NEFH 2,500 M3 |#75h 1,200 A9 |#a1Lm 1,100 M
BN - BRE™ 5,160 A |\Emh 3,000 A |&*0 1,040 F4
JAVahis] 3,660 A |= 1l X BEIm 1,000 3 |RAB&AKTH 530 4
i 4,360 [ |s&R™ 2,400 A3 |sRAKR/RTH RiE™ 419 H
Lz X BH™ 1,650 3 |SEs™H ettt eR 640 M4
BE™ 2,000 A3 |FRRFTH 2,200 A9 |fElET 2,700 A9 |=lET
ALl 1,030 M | =¥ 4,400 M |BAAT™ 3,000 A1 |BIRS™
WHEM™ - AT 2,200 A |FA=TH 2,700 A9 |f&@fd 1,000 M
KA - IR - =R - JeFumirs| 1,000 A
FH=T 1,100 M9 |24&Th 620 A |A0FRLTH 2,080 A [{x&E™
L0 2,120 M |rElET 2,240 A |[EXH X REATH
=T 1,040 M |—=mh I 510 3 |AREATH
)1 X E/l™ BEH 1,048 M
nam 5,520 A | KiETh 11,000 A3 |&/mH 680 M
e X £ - Rl X
L= 2,200 A9 [BRETH 2,000 A3 | FRIH 830 M3 |43 2,116 M

-1 BN BAEIE. REIE



